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Chapter

Free energy of a confined worm like chain
under torsion

In this chapter we lay the foundation for the extension of the mechanistic plectoneme model
with thermal fluctuations, that will be the main subject of the next chapter. The plectonemes
that form put the chains into a confined environment that has an important impact on the
way the torsional loads get divided. We will extend the WLC model from earlier chapters
to one with a finite stretch modulus and twist stretch coupling, confined in a channel with
dimensions far below the persistence length of the chain, even compared to a torsion corrected
persistence length. The narrowness of the channel implicates that the chain does not fold on
itself, but that it is up to fluctuations stretched, the so called Odijk regime [[L70]. In the torsion
free case an analogous calculation was performed by Burkhardt [[I71]], but his calculation
can not immediately be applied to this more complex problem. To start of we will redo the
calculations of Moroz and Nelson of a chain under torsion and tension below buckling.
We will take a different approach, as a guideline for how to treat the more complicated cases.
An analogous calculation in less detail was also done by Marko

6.1 Chain under tension

The WLC Hamiltonian is easily extended to include an elastic stretch term and a twist stretch
coupling. The stretch modulus, multiplying a term quadratic in the stretch, is not precisely
known, but values are in the 700 pN to 1400 pN range. It is pretty large which is one of the
reasons stretch is often neglected. The twist stretch coupling modulus, B, multiplies a term
linear in twist and stretch, thereby breaking stretch-compress and chiral symmetries. It was
recently found to be negative: when stretch increases, twist also increases. More about these
quantities for DNA in the next chapter. The chain is now not only represented by its tangent
and differential twist angle, but also by a local stretch scalar. The parametrization is as before,
but it is to be noted that the parametrization does not anymore coincide with the contour
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72 Free energy of a confined worm like chain under torsion

length due to the stretch. The Hamiltonian reads, up to quadratic order:

H = / [ (dt(S)) —w (s) + u(s) +Bw(s)u(s)_f(1+ ()_ﬁ)}

6.1)

We look at fluctuations around the ground-state. The Euler Lagrange equations for the twist
angle, ¥, and stretch factor u(s) give the obvious “classical” results:

f—B o
S

1&0 = constant Uy = (6.2)

When changing to a fixed linking number ensemble we will make the natural choice Vo =
27 (tw), the expectation value of the twist density. Completing the square for u(s), and
assuming the fluctuations around the ground-state stretch factor to be small, they can be
integrated out:

du(s) P.., = (F=By(s))> t3(s)

— 1//(8)

As we have local expressions for twist, tw(s) =
equation (@.14)) up to quadratic order:

, and writhe w, given by Fuller’s equation,

(6.4)

06) = o (10 - ).

we can define a linking density as 1k(s) := tw(s) + w(s). The boundary conditions we want
to study are with Lk = [ ds Ik fixed. Writing 1k(s) = Ik +8(s), with Ik = Lk / L, allows us
to integrate over the fluctuations:

. / [ (dth(s)) +2n2PC(lk_w(S))2_(f—2nB(lk—w(s)))2

2S
_fl_tii)
2
Le dt, f . Bf\, . .
= 2 — (7P Ik +— | (txf, — by
/Ods|:2(ds) + 5t (nc +2S)(tty ixty)

f —27 B1k)?
u_f)h

+ (27r2 P, 1k% — (6.5)
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with P, := P, — B? / S, the effective torsional persistence length renormalized by the twist
stretch coupling, as introduced by Marko [173]]. We rescale lengths with the deflection length,
§s=s/A:

L. a (dt1(5)\> « v .
= ds| = —t2(8) — Z(t,fy — iyt
n= s{z(d§)+2l(s> ! tsdy — oty

+ (anPc 1k* —

f—B 27 1k)?
w_f)u

with @ = /Ppf, L. = L. /A, and y = 2(w P, lk-|— ) dimensionless. We take periodic
boundary conditions changing to Fourier series

> 2mn
t(s) = Z a, exp(z R ) (6.6)
n=—00 Le
resulting in
o0
A (f—B2m 1k)?
M= ( 1,2 ) 272 P K ———— L f) L, 6.7
; ' m s (6.7)
with
. o (21’—”)2 + o 1y 28
T, = ¢ ¢ (6.8)
1y 228 o (Z’L’—”) +a
The eigenvalues are
27n\> 2mn
=a|—= = 6.9)
Mn,+ ( I ) I, (

The partition sum is a product of Gaussian integrals and so

f— B 27 1k)2 0 ()4
Z = Nexp| —(2m2p.ne - T=B27IO7 A\ Iy S0 (6.10)
p 25
ne1 Mn+Hn.—
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In the denominator of the product we have a quadratic expression in n2. Let n;, (i = 1,2) be
its roots. Then we can write the product as:

[ee) 2 oo 1
L= =
_ Lo i
— ]1 e /) (6.11)

The complex part of the square root of these roots gives the exponential decay with increasing
chain length. The roots are:

AN 2

L y? Y y?
(=) [ -1+ L Ja2— & 6.12
2 (271) (2052 "2 VY 4 (6.12)

Alternatively we can work all the time in the continuum limit, which will turn out to be useful
for the confined case coming up soon:

2
C c c 2
0

2S T p*
f—B 27 1k)?2 Jaz —y2/4
_ (on2p.pe  U=B27IOT o VeR /AN,
2S al
(f — B 27 1k)? 1 , Bf o
=(27%P. IK>*———— 44— [P, 127 P,/ lk+— — —)2 | L. (6.13
(” 2S ) 1@r bkt =5 0) (©6.13)

To calculate the writhe density expectation value we have added a term ow to the Hamiltonian
and we find

1 1P Kk +E)

27TP ’ ) 2
=0 b i Bf
o \/fP (27 P 1k +Bf)

1 B F
= 5

(6.14)
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The stretch factor u, follows from equation (6.2)): vy = (f—B 27w (tw))/ S. We obtain he
relative extension of the chain by differentiating the free energy with respect to the force:

_(Az) 1 93F
L. L of
P,—2 21k P, +Bf f—2Blk
_ o Poag( ) | ” 6.15)

S

4

T ! 4 Bf
2P, \/be_(ZIk P +80)°

Finally it is interesting to know the expectation value of the torque that the end of the chain
exerts on the 2 clamps that set the linking number. To calculate it, we add a term —t2x Ik to
the free energy and minimize with respect to lk. This gives the torque at a point along the
chain:

B(f—2Blk ) P. (kP 7 + 2I)
S

(t) = 21kP. 7 + (6.16)

2P, /1P, — (IkP, 7 + 2I)?

6.2 Confined chain: isotropic case

We consider a linking number constrained chain of contour-length L, confined along the
z-axis in a harmonic potential. Following Burkardt [|171] we will assume the potential to be
strong enough so that there are no overhangs. The Hamiltonian reads:

(6.17)

where s is the stretched chain contour, s(f) = fot dt’(1 4+ u(t")) and L. the contour length of
the stretched chain. We furthermore changed to coordinates perpendicular to the channel axis,
neglecting all terms above quadratic ones in either r or its derivative.

Note that, unlike u, w is not in general a small variable, since we consider a chain
under torsion. White’s relation must hold, taking the ends parallel to the confinement axis.
The absence of overhangs means that all fluctuating paths are writhe homotoplc El to the
confinement axis, so we can use Fuller’s equation (d.14)) and we can write Wr = fo dsw(s).

I'This is actually not true since the paths in a path integral are not smooth to the extreme, but in a limit sense it
can be used
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Using the confinement axis as reference curve we have up to quadratic order:

os) ~ L (dri(s) d®ry(s)  dPra(s) dry(s) 6.18)
47\ ds  ds? ds?2  ds
We make the following coordinate change:
e ) Lk
¢ (s) := ¥(s) — 2w Ik +2mw(s) with linking number density: 1k := T (6.19)

C

with obviously fOL “ds¢(s) = 0. After completing the square for u(s) we find up to quadratic
order:

Le d2r(s)\’ o Yy
H = ds 2 02 —r 2(s) — P, lk(rxry Pxfy) | +2n° P, Ik*L. (6.20)
0

To simplify the calculations we rescale the internal (contour) length and the external (channel
width) length following Burkhardt:

’

P, /5 p*fr P = 1;—° lk =b""4P, 1k o :=b"4p,*
b
(6.21)

A:b1/4Pb_l/4S r

resulting in:

LC d2 1 v . A A2 A
H = / [2( r(S)) of £2(5) — 7w PIk(Fery — fxfy)i| + 2am? Pl 2Lc (6.22)

ds?

We go now to momentum space, taking periodic boundary conditions:

o0
H=Y" (aﬁnan) + L2an? Pk (6.23)
n=1
with
4 3
. (23—") 1 z27rPlk<2””)

T, = (6.24)

3
_127 Pk (2”")

(_

271n4
() +1
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The eigenvalues are

27n\* ~ A
An,i=( R ) +1:t2nP1k(

C

2rn\’ 27n\* 27n\’
jfn) =:( jfn) +1:|:§( ’f") (6.25)
L. L. L.

2b1/4 Pb3/4

Ser = 3374 = lker = W (6.26)

There is an instability for

The partition sum is a product of Gaussian integrals
5 (e .e]
Z = Nexp(=2an?PIK L) | [ —— 6.27
xp( 15 (6.27)

In the denominator of the product we have a quartic expression in n2. Let n;7;,, (i = 1,2)
be the pairs of conjugate roots then we can write the product as:

ad 1

H(...): H H — ( 2)

il
n=1 i= 12n1 1 -4

1—[ T/ MNi ﬂﬁ

B 121 SINGT /M) sin(a /1) (6.28)

The complex part of the square root of these roots give the exponential decay with increasing
chain length. The roots are all of the form:

~ 2
L

ni = (2—) £ (0) and complex conjugate (6.29)
/4

The functions &;, choosing the branch cut appropriately, are found to be:

£, ey TGN
5(0) = . ¢g<z>+5\/4—1§4 Y

with

1/3
£ = £ S g £ 2 )= 4002 a2 e g | 63



78 Free energy of a confined worm like chain under torsion

Now write /12 = (x12 £ 1y1,2). In the long chain limit the contribution of the roots to the
partition sum is:

L Jg| 2,
— YT s = L fgle P (6.32)
sin“(Lcx/2) cosh”(L.y/2) + cos?(L.x/2) sinh“(L.y/2)

Let &, be representatives of the two conjugate pairs and y; , its imaginary parts. The
partition sum is given by:

Z ~ Nexp(—2an2ﬁli(zﬁc)ﬁc4|§1§2|e_ﬁ°(|y‘|+|y2|) (6.33)

The free energy of the confined chain per contour-length in the long chain limit is given by
the lowest eigenvalue of the Hamiltonian :

S , hb\'4
f=— lim —log(Z) =27%P. I+ (—) (| + |y2]) (6.34)
Lc—>oo [, Py

C

The first term is the twist energy stored in the chain, the second represents the free energy

Y S
0.4] .
02| \:
0.0 '
0.2} /-
-0.4} /
-0.6f - :

— ,
0.4 0.6 0.8 1.0 1.2

Figure 6.1: Flow of the roots \/g in the complex plane under increasing torsion. The horizontal line
indicates the speed with which the roots flow as explained in the text.

of the confinement. In case the linking number density is zero, the roots are, up to a sign
equal: £1, = 1 = |y12| =1/ V2 and we retrieve Burkhardt’s result. The flow of the roots
under increasing linking number density is depicted in Figure[6.1] Starting from lk = 0 the
root pairs move apart. Both decrease their imaginary parts, effectively decreasing the free
energy of confinement. The reason is that the thermal writhe pushes the chains away from
the centerline. This does not happen in a symmetric way, as is shown by the line along the
x-axis, where each arrow corresponds to a fixed increase of 1k. At Ik, the right pair of roots
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becomes real indicating a singularity in the partition sum. Of course our theory breaks down
before this happens. To facilitate a fast calculation of the effect of twist on the confinement
free energy the following expression can be shown to give an approximation with a maximum
error less than 0.7%.:

~ V2 P11 ¢ ! 1 6.35
Iyl + [y2| = 2W+E m—f—i‘m (6.35)

Another way to calculate the free energy is the following, starting from (6.27)), omitting a
constant and the twist part

1 — (py+ 1> —=p§
f:L_ch:;log( P )

bl/4 /OO dp p8 ) 2T Pb1/4
~ — —log withe€ (= —————
Pb1/4 . 2T (p4 + 1)2 _ §2p6 b1/4 Lc

b1/4 oo dp p8 oo dp §2p6
= Zlog(——— )| ZLiog1-—>L— 6.36
P,/ U 2 Og((p4+ 1)2) / 27 Og( (" + 1)2)] (0:36)

The first integral results in:

*d 8 5
/e ﬁ o ((P“pTl)z) :é (arctan(1 — v/2p) - arctan(1 + v/2 p))

1 1-V2p+p*\ p "\
+ log + —log 2
V2n 1+ 2p + p? 4 l+p .

= —JV2- ie log(e€) (6.37)
s

and the second, making use of the fact that {p> < p* + 1, for { < {.,, and noting that the
series converges uniformly in any closed interval contained in [0, {.,), in:

<dp Pt \_ N~ A 8pt

/ El‘)g(l_(p“H)Z)‘_,;Z/E E((p4+1)2)

> T(n/2—1/4T(Bn/2 + 1/4)¢>"

47 (2n)! L (6.38)

n=0

This can be rewritten with the help of standard gamma function identities as:

4 3;2 4
= —V2[1- R4 5. 311 5 i) +§3Fz(i,%,3;§,g;;¢)] +0() (639
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making the bifurcation point explicit. The free energy of confinement is finally given by:

b1/4f 1 1 5.1 1.¢% 3§2 1 7 11.3 3.¢&*
f: W 2 3F2<_Z’ 12°12° 4° 2° é-cTr> - §3F2(Za 12°12° 4° 2° é-4 ) (6'40)

or defining the “small” parameter x := {/{., and the dimensionless parameter y := %ﬁ
. f 1 1 1 5.1 1. 4 X 1 7 11.3 3. 4
§-= m = T 3F2(_Z’ 12° 1224 2% ) - m 3F2(Z’ 12°12° 4> 20X )
1 X 5x3
=———— "=+ 0
x 243 72 ")

An estimate of the rest term can be obtained using the asymptotic expansion of the gamma
function:

N 5x3 B x>
X 23 72 a/a(l—x?
_ Z 1 itha, e DO/2= 1T Gr/2 4 1/4)22 6a1)

47 /2(2n)!

It is somewhat unexpected that the two expressions for the free energy equation (6.34)) and
equation (6.40) are equivalent, but the second can be seen as the Laurent series of the first. It
is useful to express the free energy in terms of the width of the fluctuations in the channel.
For long chains this can be easily obtained from the free energy density (Burkhardt):

P, 3 1K3 P,y k> 9f s0g nd 5
=—F5\r —2— ==X = - 2n — Da,x*"*+3,
s =—52; 5 =~ 221 = D
or in generalized Hypergeometric functions:
1
.3 1 1 5.1 1 7 11.3 3. . .4
z=x"3F (4 5 15t g 21 X0) + =X sRa (g 15 i 5 35 xY)

23

o) 3 13 17.5 3..,4 77 9 5 19 23.7 5. .4
+ ¥ R n 3 )+ YW Wl (3121042 x")

We now wish to invert the series (6.42). We use a standard trick to rewrite the series in a form
that makes it suitable for Lagrange inversion, namely as a series where the derivative at the
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point of inversion is finite. We first write

dao

z(x) = apx’ ( Z(2n )a,, xz") , (6.42)

n=1

then consider the following series:

k
y(x) = Vz(x) = Yagx 1+Z : F(F(l/f/;k) (Z(z n 2”) . (643)

and finally apply Lagrange inversion on y(x):

o0

1 d! x \"
=) — n/3 6.44
x(2) nzln! dx”_l( (x)) =0 z ( )
The first terms of the resulting series are:
5/3
_ . 13_ _* Iz O3
O R TIRA L
1 z1/3 525/3
z) = - + + O3
8() 13 33 2433 =)
or in terms of the unscaled variables:
P 71/3 (27 Ik P, )? P ( 2))1/3_|_O<(271 kP,)° @ (rz))5/3) 645
TR 38 23R PS '

The demand { < {., translates into (P, (r2))!/3 < Py, /(27 P, k). In the plectoneme the
free energy of the confining potential is taken into account. When the potential causing the
confinement potential is separately known, but complicated, the harmonic potential is just
there to get an estimate for the cost of confining the chain and so its contribution needs to be
subtracted to get the confinement free energy:

! 123 (27 kP, )2 3027 kP.)*
:—b 2 _ — 1/3 ¢
fpot 7 (1' ) 4 (Pb (I'2>)1/3 + 16 21/3P 2( ( )) —28 Pb4 b(r )

Lo ((271 lljk 6PC ) @, (rz))s/s)

b
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and so we find

B 1 32r kP, )2 sz 3QmIkPO
fconf _25/3 (Pb (rz))1/3 - 16 21/3 sz(Pb (r )) - 28 Pb4 b(r )
27 kP, )°
+ 0(#(& (rz))5/3) (6.46)
Py

We next consider the average thermal writhe, which is conjugate to the linking number in the
fluctuation free energy:

1 f
27 (27 P 1K)

3 Pk o0y, 317 7RI (kP.)° 5 s/
T o9l1/2 sz Py (r >) + 721/2 Pb4 Py (r )+ o Pb6 Py (r ))

(6.47)

b

Of course Whites relation gives us at the same time the average twist density.
To calculate the extension we add a term (1/2)(55)? to the fluctuation Hamiltonian (6-20).
The extension is then given by, using the results of section [6.1]:

Az B af
pi=—=|14+2nlk— — (6.48)
A=0

L. S oA

The resulting free energy expression changes to:
b1/4 oo dp p8
f=- 4 / — log = =
Py 0o 21 (p* + Ap2 + 1)2 = 2(1) p®

B b1/4 oo dp p8
= ——1/4 —log ~
Py 0o 27 (p* + Ap2 + 1)2

© L0 = n
n Z/ dp &M p° (6.49)
—Jo 2mn (p4—|—ip2+1)2 ’
with A = AP, Y2p~1/2 and L(A) = W. We need 3, f at A = 0. The first

integral results in:

d [*dp P
— — log =
oA Jo 27 (p* + Ap2 + 1)2

= Pb_l/zb_l/zi ] 1_|_ &
dA 2 4

= 7 32p ~1/2p—1/2 (6.50)

A=0
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while the second integral results in:
d /°° dp ( £2 pS )
A Jo 2mn \(p*+Ap2+1)2) |,_,
B 1 oodp( §2p6 )" pz N Bé-Zn—l /oodp( p6 )”
VbR Jo m \(pt+ 12 ) pt+1 0 spAp4 Jy w \(p* 4 1)?
'n/24+1/4)T'(Bn/2 + 3/4) 2n_|_B§2”‘1F(n/2—1/4)1“(311/24—1/4)

4 (2n)!(b Py)1/2 J 4 (2n — 1)1h1/4 S P34

(6.51)

And so we find as contraction factor:

1 3B 5¢2

=1
P 2ﬁb1/4pb3/4 8V2P,S  64+2b1/4 P34
2B Ik (1 _ 3B2PSCP7Ilk) (1 + 3BPC nlk)(P jle)2
—1- - b2 (P, (r2))'/3 — 8P, S P, (r2) (6.52
S 2p, o) 4P, () (652

6.3 Non isotropic confinement

We now consider a confinement in a channel, where the confining potential in the two
directions have a different strength. The Hamiltonian (6.20) changes to:

N T,

+27%P, 1KLL, (6.53)

The rescaling is as before except that we replace b with

2(33(b2by + byb?) + (b2 + 14byby + b2 — b3 — b3)

A(by,by) = 6.54
which has the dimension of [L~3]. With that choice the bifurcation point is at:
27 P 1k
Loy 1= e er (6.55)

Pb3/4 A1/4 -
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And so we have again a suitable parameter for an expansion. The free energy corresponding
to (6.36)) is now given by:

f:_AIM /ood_plog( ps )
P,\* Jo 27 (p* + b /M) (p* + by /) — E?p©
_ (b;/4 o

- p, /4 J2A1/4
A ARG — 96 b, + Ok — by

43/2(by — by) 324/2(by — by)3

¢+ 0 6))
(6.56)

The A’s neatly cancel. This is obvious from the way the scaling was defined but this makes the
expansion more transparent. Since A cancels we change to a new parameter « := 27 P, 1k.
The critical point can be written as

, 2 4\/§(bx Pb3 +by Pb3) + 2\/(2(bx + by)2 + 24bxbx) Pb6
(271 P, 11<c,) — (6.57)

3\/(bx Pb3 +by Pb3) + \/((bx Pb3 +by)2 + lszbx) Pb6

To get an expression for the free energy as function of the second moment of the fluctuations
we will use a multivariate extension of Lagrange inversion [175]). For the choice of point
of reversion and parameterization we will first try to treat both directions on equal footing.

We start by defining suitable scales and parameters. Define, with i = x or y:

. —_ a . —_ Pb
zi = Pb3/4—b,‘1/4 9(zx, zy) := Eﬂbx(zx),by(zy)]: (6.58)

with i = x or y. The average fluctuation variance can now be calculated (as before) as:

3
o
Ui(2x, 2y) 1= 2055 (17) (2. 29) = =20z 922, 2)) (6.59)
b

We need a formal power series fx , that implicitly defines z , as a power series in vy,
through z; = vil/ > fi(zx zy). Note that we have taken the (reduced) variance to the power 1/3,
since this functional equation has only a solution, that is then also unique, when f;(0,0) # 0.
We define f; as:
Zj
Ji(zx, zy) 1= INVEY N (6.60)
vi (Zx ) Zy)
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The coefficient for the term (3/v,)" (3/v,)™, n, m not necessarily positive, of g, as a power
series in u; 1= 3/v;, is given by the Good-Lagrange formula [[174} |175]

105,y §(2x (). 2y (1))

=[zx,y]"’mg(zx,zy>fx"(zx,zy>fym<zx,z»Det(&-,j -

Zi 8fj(Zx,Zy))
fj(zx,zy) 0z;

=[zx,y1"""g(zx,zy>fx"(zx,zy)fym<zx,zy)§Det( 8”"(2’“2”) (6.61)

vj(Zx’Zy) aZi

where [x1]"" F(x1,2) denotes the coefficient of the monomial x}x}" in the (formal) power
series F'. Of course the same would hold would we replace g with some other power series.
From the above we find:

(v4/3 _|_ N -1 4/3)

(U 1/3+U_1/3) (U1/3+Ul/3)+

8= 22/3 21/3 621/3
1 _ —
~ =173 (W3u 43 4y 4353y 4 W(v)sc/s +5/3) (6.62)
and we clearly have a problem: there are an infinite number of terms in (v2" ™73 + vf”“)/ %)

with coefficients that do not decrease. To resolve this we will redefine our expansion parame-
ters. We will distinguish two cases: either the harmonic potentials are almost equal, b, ~ b,
and (r)% ) ~ (rJ% ), or one of them is much smaller, say b, < b,. In the end we will see that
they both lead to the same answer.

6.3.1 Almost isotropic case

In the first case we will use z := z, and §,, := z,/z, — 1 as parameterization of the potentials

and v 1= vy, Ay = (ryz) / (rf) — 1 as variance parameters. The defining power series are
now:
folebu) = & fa(bu) = (663
z, = an z, = .
v ) (2 6 Aot T AL (2, )

resulting in the Good-Lagrange equation:

[\3/5’ Aw]n’m 9(2(\3/5, Aw),gw(%, Aw)) ==

[z,aw]"’mg(z,(sw)f” (2,80) [A" (2,6u)z80 Det(azv(z,Sw) 9, Aw (2, 80) ) 660

3v(z,8p)Aw(z, 6y) 05, 0(z,8y) 05, Au(z,8)
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From this we find:

A 1 A
_ 1/3 w 2 -1/3 w 2 1/3 5/3
g—(2 —W‘FO(AIU))U _(8 21/3 + 48 21/3 —l—O(Aw))v +(9(v )

1= Ay/6 @?(14 A,/6)
(P (213 8 Py’

= f (Py (r2)'* + O(ah) (6.65)
Also here we can calculate the entropic contribution to the confinement free energy, subtracting
the contribution of the artificial harmonic potential (in case the confinement potential has
been taken care of separately). Replacing g in the Good-Lagrange equation (6.64) with the
expectation value of the reduced potential energy density (U) = 3 (b (rZ) + by (r})) we find:

[\3/;, Aw]n’m (U) (Z(\B/;’ Ay), Sw(%, Aw)) =

(X2

—[Z,Sw]"’m%(2_4v(2,5w) + [2(1+8u)] (2, 80) (1 + Au (2, 8u))

2P,
Jo' (2, 8w) f A" (2, 6)Z 8w 3,0(z,8y) 0;Au(z.8w)
Det =
3v(z,8w)Aw(z.0w) 35, 0(2,8w) 05, Aw (2, 8w)

1= A,/6  a?(1+ A,/6)
(4P, (r2)1/3 16P,?

(U) (P (rZ)'? + O(a®) (6.66)

and so

_ (3-44/2) a1+ A,/6)
T4 (123 16Dy

feons = §—(U) (Py (r2)'? + O(*) (6.67)

Note that these results lead to the right isotropic expressions since:

s = : ~ 2wl 6.68
()3 ((r2) +(r2)/3 T o1 (r2)173 (6.68)
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For the extension we add again a fictitious force term as in the isotropic case, leading to

1 & (®dp p2Q2p* + by + by) p®"
pw =1-— P. Z 2T ((a 1 2n+1
b =00 ((p* + bx)(p* + by))
! (b}/“ + byt N 502
RN b 4G B (B 1 By P
11(by + by + 6/byby, + 363 *b3/* + 301/ * b3/ ot Lo 6))
o
32V2(03* + 5" (Vi + /b)) Py
(6.69)
relying again on the inversion formula. This finally results in:
1+ Ay /6 1+ 4,/2)0?
po=1- LELeLO g s QT LD p o) (6.70)
2P, 8Py

Finally we calculate the writhe density as function of the linking number density:

(3+ Aw/2) P Ik
w =

(3 4+ 34, /2)72(P, 1k)3 b
8P,

8P4

Py (P2 + o (r2) 6.71)

Next we will check the limit of high anisotropy.

6.3.2 Strong anisotropy

We assume by > by, = (rZ) < (r}). We change 8,, and A, to § := z,/z, and A :=

((r2)/ (r2)). keeping the other two variables from the previous case. The defining power

series are:

Z 8s

RS =ty )= s

o3 (2.5,) (6.72)

Note that this time we need ASI/ ? since to lowest order A s~ 0 5’ As inversion formula we
find:

[0, A" 9(2(Yv, I As),8,(Sv, ¥ Ay)) =

" ’85‘ v 785‘ 8S V4 s Us zZ4s s VS
Jo'(2:0:) J4, (2. 80)z Det 9:0(2.85)  9:45(2.0) (6.73)
9U (Z, SS)AS(Zﬂ 85‘) aé‘sU(Z, 8.&‘) 885 AS(Z’ 8S)

[z, 8,]""™ g(z, d)
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resulting in:

1 .
9= 557 (1+417) 01— 75 (1= 4, + 437 + 0(a7) v'72

1 (1 1 I |
+ —3 2273 (ﬁ — %As + gA?/:‘} _ 5A?/3 + O(Ag/3)) v5/3 + O(U7/3) N

We can in fact sum up all terms in A in the second term to get as compact expression:

1+ A3 1 — A,) (27 P, 1k)?
_ + Ag _( s)(2m ) (Pb(r§>)1/3
2Py (23 6P2(1 — A3

L+47% (1447 + A7) er P 1k
_ 1+ 0+ . + )27 ) P, (r,%))l/g’ 6.74)
2(Py (r2)'/3 6P,2(1 + AY3)(1 + A2/3)

f

Remembering the definition of Ay it is immediately clear that the end result can be written in
a symmetric way covering all cases in one formula. It is useful to introduce now the concept
of deflection length of confinement as

A3y 2202 4 A3
(Ax +Ay) (A3 +43)

Aey = Py (rZ N3 r=2 (6.75)

as a length scale over which the potential starts to dominate thermal motion. The factor
2 is a matter of convention. The torsion mixes the two confinement directions. The new
deflection length that emerges can be seen as an effective one, dominated by the smallest
dimension in case of highly anisotropic confinement, equal to the conventional one for
isotropic confinement. With these definitions the final result of this chapter can be written as:

1(Pb Pb) 1 A(x P/ 1k)2

=3 12 P2

6.76
P (6.76a)

Not to become too repetitive we just mention the results for all other relevant quantities:

1 (P, P, 1 A(z P, 1k)?
Uy=- |-+ 2 )|+ 6.76b
) 8()Lx+/\y)+24 Py2 ( )
3(P, Py\ 1A(xP. k)2
_ > _ ST W) 6.76
fconf 3 (Ax + /\y) 3 sz ( C)
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2Bk 1A, A\  ABzP/ Ik
et e
(TA325 = 22408 + 7A303) (n P, 1k)?
C 12(A + A)(TA2 + A2)2P

(6.76d)

AP Ik

b

w






